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the sum as a Riemann sum for a function defined on [0, 4].
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[I] Definition The natural logarithmic function is the function defined by
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81. If g is the inverse function of f(x) = 2x + In x, find g'(2).
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Laws of Logarithms If x and y are positive numbers and r is a rational num-
ber, then
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1. In(xy) =Inx + Iny 2. ln<—> =Inx—1Iny 3. In(x") =rlnx
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Laws of Logarithms If x and y are positive numbers and r is a rational num-
ber, then
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Definition

e is the number such thatIne = 1.
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Steps in Logarithmic Differentiation

1. Take natural logarithms of both sides of an equation y = f(x) and use the Laws
of Logarithms to simplify.

2. Differentiate implicitly with respect to x.

3. Solve the resulting equation for y'.

61-64 Use logarithmic differentiation to find the derivative of
the function.

61. y = (x> + 2(x* + 4)* 62. v - (x + D*(x = 5)°
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